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8. Marking Scheme :
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marks if you darken the bubble corresponding to the
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Ïi;k bu funs Z'kks a dks /;ku ls i<+ s aA vkidks 5 feuV fo'ks"k :i ls bl dke ds fy,  fn;s x;s gSaA

1. ;g iqfLrdk vkidk iz'u&i= gSA bldh eqgj rc rd u rksM+s tc
rd fujh{kd ds }kjk bldk funZs'k u fn;k tk;sA

2. dPps dk;Z ds fy, [kkyh i`"B vkSj [kkyh LFkku bl iqfLrdk esa
gh gSaA dPps dk;Z ds fy, dksbZ vfrfjDr dkxt ugha fn;k tk;sxkA

3. dksjs dkxt] fDyi cksMZ] ykWx rkfydk] LykbM :y] dSYdqysVj]
dSej k] lsyQksu] istj vkSj fdlh izdkj ds bysDVªkWfud midj.k ijh{kk
d{k esa vuqefr ugha gSaA

4. mÙkj i=] ,d ;a=&Js.khdj.k ;ksX; i= (ORS) gS tks fd vyx ls
fn;s tk;saxsA

5. bl iqfLrdk dh eqgj rksM+us ds i'pkr d`i;k tk¡p ysa fd blesa
34 i`"B gSa vkSj 100 iz'u gSaA

6. ijh{kkFkhZ dks gy fd;s x;s iz'u dk mÙkj ORS mÙkj iqfLrdk esa lgh LFkku
ij dkys ckWy ikbUV isu ls mfpr xksys dks xgjk djds nsuk gSA

7. iz'ui= dk izk:i :

bl iz'u&i= ds nks Hkkx gSaA
Part-I : IQ (ekufld ;ksX;rk) ,oa Part-II : HkkSfrd foKku] jlk;u
foKku] xf.kr vkSj thofoKku gaSA
Part-II esa Section A & Section B djuk vfuok;Z gSaA Secion- CorD
esa ls dksbZ ,d (xf.kr ;k tho foKku) dk p;u djrs gq;s viuk mÙkj
ORS esa lEcfU/kr iz'u la[;k ds xksys dks xgjk djds nsuk gSA

8. vadu ;kstuk :
Part-I esa gj iz'u esa dsoy lgh mÙkj okys cqycqys  (BUBBLE) dks
dkyk djus ij 4 vad vkSj dksbZ Hkh cqycqyk dkyk ugha djus ij
'kwU; (0) vad iznku fd;k tk;sxkA bl [akM ds iz'uksa esa xyr mÙkj nsus
ij dksbZ ½.kkRed vad ugha fn;s tk;saxsaA
Part-II esa gj iz'u esa dsoy lgh mÙkj okys cqycqys (BUBBLE) dks
dkyk djus ij 4 vad vkSj dksbZ Hkh cqycqyk dkyk ugha djus ij
'kwU; (0) vad iznku fd;k tk;sxkA bl [akM ds iz'uksa esa xyr mÙkj nsus
ij dksbZ ½.kkRed vad ugha fn;s tk;saxsaA

Time : 2 Hrs. Maximum Marks : 300
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1. In a row of 40 boys, Satish was shifted
10 places to the right of Rohan and Kewal was
shifted 10 places to the left of Vilas. If Vilas was
twenty-sixth from the left and there were three
boys between Kewal and Satish after shifting,
what  was  the  position  of  Rohan  in  the  row ?

(1) 10th from the right end
(2) 10th from the left end
(3) 39th from the right end
(4) Data inadequate

2. K is brother of N and X, Y is the mother of N,
and Z is the father of K. Which of the following
statements is not definitely true ?
(1) K is the son of Z (2) Y is the wife of Z
(3) X is the son of Y (4) Z is the father of X

3. At an office where an interview was conducted
to select persons for clerical posts, they came
to know that out of 20 persons, 12 knew only
typing and 5 knew only shorthand and the rest
knew both typing and shorthand. Which of the
following diagrams represents this fact?

(1) (2) 

(3) (4) 

PART - I
I Q (MENTAL ABILITY)

This section contains 20 multiple choice questions. Each question has four choices (1), (2), (3) and (4) out
of which ONLY ONE is correct.

bl [k.M esa 20 cgqfodYi iz'u gSA izR;sd iz'u esa pkj fodYi (1), (2), (3) vkSj (4) gSa ftuesa ls dsoy ,d lgh gSA

1. 40 yM+dksa dh ,d iafDr esa] lrh'k dks jksgu ds nka;h vksj
10 osa LFkku ij vkSj dsoy dks foykl ds cka;h vksj 10 osa
LFkku ij LFkkukUrj.k fd;kA ;fn foykl cka;s ls 26osa LFkku
ij Fkk vkSj LFkkukUrj.k ds ckn dsoy vkSj lrh'k ds e/; rhu
yM+ds gSa] rks iafDr esa jksgu dk D;k LFkku Fkk\
(1) nka;s ls 10ok¡ Hkkx
(2) cka;s ls 10ok¡ Hkkx
(3) nka;s ls 39ok¡ Hkkx
(4) vkadM+sa vi;kZIr

2. K, N rFkk X dk HkkbZ gS, Y, N dh ek¡ gS rFkk Z, K dk firk

gSA fuEu esa ls dkSulk dFku iw.kZr;k lgh ugha gS ?

(1) K, Z dk iq= gSA (2) Y, Z dh iRuh gSA

(3) X, Y dk iq= gSA (4) Z, X dk firk gSA

3. ,d dk;kZy; esa DydZ ds in ds p;u ds fy;s lk{kkRdkj gks

jgk gSA ;g Kkr gS fd 20 O;fDr;ksa esa ls 12 O;fDr Vad.k

rFkk 5 dsoy 'kkVZgS.M fyfi tkurs gSa rFkk 'ks"k O;fDr Vad.k

vkSj 'kkVZgS.M nksuksa fyfi tkurs gSaA fuEu esa ls dkSulk fp=

bl rF; (dFku) dks izn£'kr djrk gS\

(1) (2) 

(3) (4) 
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4. If × stands for ‘addition’, < stands for

‘subtraction’, + stands for ‘division’, > stands
for ‘multiplication’, – stands for ‘equal to’, ¸
stands for ‘greater than’, and = stands for ‘less
than’, state which of the following is true ?

(1) 5 × 3 < 7 ¸ 8  +  4  ×  1

(2)  3 × 4 > 2 – 9 + 3 < 3

(3)  5 > 2 + 2 = 10 < 4 × 8

(4) 3 × 2 < 4 ¸ 16 > 2 + 4

5. Statements :

Engineers marry only teachers. Rashmi is a

teacher

Conclusions :

I. Rashmi is married to an Engineer

II. Rashmi is not married to an Engineer

(1) Only I follows

(2) Only II follows

(3) Both I and II follows

(4) Neither I nor II follow

6. In a certain code COUNSEL is written as

BITIRAK, how is GUIDANCE written in that

code ?

(1) EOHYZKBB (2) FOHYZJBB

(3) FPHZZKAB (4) HOHYBJBA

7. There is a specific relation between the first

term and  the second term. The same relation

exists between third and the fourth term. Select

the correct alternative.

Maharashtra  :  Puranpoli  :  :  Bengal  :  ?

(1) Basundi (2) Shrikhand

(3) Rasgulla (4) Barphi

4. ;fn × dk vFkZ '+', < dk vFkZ ‘–’, + dk vFkZ ' '̧, > dk vFkZ

'×', – dk vFkZ '=', '¸' dk vFkZ '<', rks fuEu dFkuksa esa ls lR;

dFku pqfu;sa ?

(1) 5 × 3 < 7 ¸ 8  +  4  ×  1

(2)  3 × 4 > 2 – 9 + 3 < 3

(3)  5 > 2 + 2 = 10 < 4 × 8

(4) 3 × 2 < 4 ¸ 16 > 2 + 4

5. dFku :

vfHk;Urk dsoy f'k{kdksa ls 'kknh djrs gSaA jf'e f'k{kd

gSA

fu"d"k Z:

I. jf'e vfHk;Urk ls 'kknh djrh gSA

II. jf'e vfHk;Urk ls 'kknh ugha djrh gSA

(1) dsoy I fu"d"kZ

(2) dsoy II fu"d"kZ

(3) nksuksa I rFkk II

(4) ukfga I ukfga II fu"d"kZ

6. ;fn dwV Hkk"kk COUNSEL dks BITIRAK fy[kk

tkrk gS rks blh dwV esa GUIDANCE dks bl izdkj fy[kk

tk;sxk?

(1) EOHYZKBB (2) FOHYZJBB

(3) FPHZZKAB (4) HOHYBJBA

7. izFke rFkk f}rh; in esa ,d fo'ks"k lEca/k gSA r`rh; rFkk

prqFkZ in esa Hkh leku lEca/k gS] rks lgh fodYi dk p;u

dhft;sA

egkjk"Vª  :  iwj.kikSyh  :  :  caxky :  ?

(1) ck¡lqnh (2) Jh [k.M

(3) jlxqYyk (4) cQhZ
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8. Find the missing number in given series :-

253, 495, 143, ?

(1) 152 (2) 105

(3) 903 (4) 374

9. All the faces of a cube are painted with blue
colour. Then it is cut into 125 small equal
cubes. How many small cubes will be formed
having no face coloured ?

(1) 27 (2) 8 (3) 16 (4) 24

10. Find the water image of question figure which
will obtain when question figure is rotated by
90° in clockwise direction.

Question figure

/////////////

(1) (2) 

(3) (4) 

11. Which alphabet will come on the opposite
surface on which alphabet F appears?

B DA C

(i) (ii) (iii)

C E E
A

F

(1) B (2) A (3) C (4) E

8. iz'uokpd fpUâ ds LFkku ij mfpr la[;k dk p;u dhft;s:-

253, 495, 143, ?

(1) 152 (2) 105

(3) 903 (4) 374

9. ,d Bksl ?ku dks uhys jax esa Mqck fn;k tkrk gSA rRi'pkr~ bl
?ku dks 125 NksVs ij cjkcj ?kuksa esa dkV fn;k tkrk gSA rks
,sls ?kuksa dh la[;k crkb;s tks fcYdqy Hkh jaxhu (uhys) ugha
gSA
(1) 27 (2) 8 (3) 16 (4) 24

10. fn;s x;s iz'u fp= dk ty izfrfcEc pqfu;s] tcfd

iz'u fp= 90° ij ?kM+h dh xfr ds vuqlkj ?kqek;k x;k

gksA

iz'ukÏfr

/////////////

(1) (2) 

(3) (4) 

11. v{kj F ds fo:¼ i`"B ij dkSulk v{kj nf'kZr gksxk ?

B DA C

(i) (ii) (iii)

C E E
A

F

(1) B (2) A (3) C (4) E
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12. In the question, find out which of the answer

figures (1),  (2), (3) and (4) completes the figure
matrix?

 

(1) (2)  (3) (4) 

13. There is a set of three figures X, Y and Z have
been gives, showing a sequence in which a paper
is folded and finally cut from a particular section.
You have to select the answer figure which most
closely resembles the unfolded piece of paper.

            

(1) (2) (3) (4) 

14. In the question a dot is placed in the figure
marked as (X), this figure is followed by four
alternatives marked as (1), (2), (3) and (4). One
out of these four options contains the common
region to circle, square, triangle similar to that
of marked by dot in figure (X). Select that option.

(X)

(1) (2) (3) (4) 

12. fn;s x;s oSdfYid fp=ksa esa ls dkSulk fodYi (1),  (2),

(3) rFkk (4) iz'u fp= vkO;wg dks iw.kZ djrk gS  ?

  

(1) (2)  (3) (4) 

13. ;gk¡ rhu vkd`fr;ksa X, Y rFkk Z dk leqPp; fn;k x;k gS]
ftuesa dkxt dks fn[kk;s x;s vuqØe esa eksM+k x;k gS rFkk
vUrr% fo'ks"k [k.M esa dkVk x;k gSA vkidksa ml mÙkj vkd̀fr
dk p;u djuk gS] tks fcuk eqM+s gq, dkxt ds VqdM+s ds
vfèkdre leku gksA

            

(1) (2) (3) (4) 

14. fn;s x;s iz'u esa vkd`fr (X) esa fcUnqvksa dh fLFkfr fn[kkbZ
x;h gSA uhps fn;s x;s fodYi (1), (2), (3) rFkk (4) blh
vkd`fr dk vuqlj.k djrs gSA bu pkj fodYiksa esa ls dksbZ ,d
fodYi vkd`fr (X) esa o`Ùk, oxZ vkSj f=Hkqt esa fcUnq }kjk
izn£'kr {ks= tSlk] mHk;fu"B {ks= izn£'kr djrk gS] rks ml
fodYi dk p;u dhft;sA

(X)

(1) (2) (3) (4) 
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15. Observe the pyramid of letters and answer the

following questions:

a
b c
f  e d
g h i j k
r   q   p   o   n m l
s   t   u   v   w x y z a
k  j  i  h  g  f e d c b
l  m  n  o  p q  r  s  

abc : klm : : fgrqp : ?

(1) xfqpo (2) ipuih (3) abuts (4) sklmn

Direction for (Q.16 to Q.20) :- Five students A, B, C,

D & E of a class secured distinction in four subjects

English, Science, Maths and Sanskrit as:

A and C secured distinction in English and Science.

B, C and E secured distinction in Science and Sanskrit,

while A, D and E secured distinction in English and

Maths. Find out the correct alternatives for each

question.

16. The student who secured distinction in all the

four subjects is -

(1)  A (2) E (3) C (4) D
17. The students who secured distinction in English

Science and Maths are -
(1)  A,  B (2)  D,  E (3)  A,  E (4)  C,  D

18. The student who secured distinction in three
subjects except Maths is -
(1)  A (2) B (3) C (4) D

19. The student who secured distinction in Sanskrit
and Science but not in Maths and English is -
(1) B (2) C (3) D (4) E

20. The student who secured distinction in only
English and Maths is -
(1) C (2) B (3) D (4) A

15. fn;s x;s fijkfeM ds v{kjksa dks /;ku ls nsf[k;s] vkSj iz'u dk
mÙkj nhft;sA

a
b c
f  e d
g h i j k
r   q   p   o   n m l
s   t   u   v   w x y z a
k  j  i  h  g  f e d c b
l  m  n  o  p q  r  s  

abc : klm : : fgrqp : ?
(1) xfqpo (2) ipuih (3) abuts (4) sklmn

funs Z'k (iz.16 ls iz.20) :- ,d d{kk ds ikap Nk=ksa A, B, C, D

rFkk E us fofHkUu fo"k;ksa, vxzsth, foKku, xf.kr, laLd`r esa fo'ks"k
;ksX;rk izkIr dh gS tks bl izdkj gS:

vxszath esa fo'ks"k ;ksX;rk A rFkk C us izkIr dh laLd`r vkSj foKku
esa B, C rFkk E us fo'ks"k ;ksX;rk izkIr dhA tcfd vxzsath vkSj xf.kr
esa A, D rFkk E us fo'ks"k ;ksX;rk izkIr dhA fuEu iz'uksa dk lgh fodYi
pqfu;sA

16. dkSu ls Nk= us lHkh fo"k;ksa esa fo'ks"k ;ksX;rk izkIr dh ?
(1) A (2) E

(3) C (4) D
17. dkSu ls Nk=ksa us vxzsth] foKku vkSj xf.kr esa fo'ks"k ;ksX;rk

izkIr dh\
(1)  A,  B (2)  D,  E (3)  A,  E (4)  C,  D

18. dkSu ls Nk= us xf.kr ds flok; rhu fo"k;ksa esa fo'ks"k ;ksX;rk
izkIr dh-
(1) A (2) B (3) C (4) D

19. dkSu ls Nk= us laLd`r vkSj foKku esa fo'ks"k ;ksX;rk ijUrq
xf.kr vkSj vaxzsth esa fo'ks"k ;ksX;rk izkIr ugha dh\
(1) B (2) C (3) D (4) E

20. dkSu ls Nk= dsoy vaxszth vkSj xf.kr esa fo'ks"k ;ksX;rk izkIr
dh-
(1) C (2) B (3) D (4) A
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PART - II
SECTION-A : PHYSICS

This section contains 15 multiple choice questions. Each question has four choices (1), (2), (3) and (4) out
of which ONLY ONE is correct.

bl [k.M esa 15 cgqfodYi iz'u gSA izR;sd iz'u esa pkj fodYi (1), (2), (3) vkSj (4) gSa ftuesa ls dsoy ,d lgh gSA

21. According to the diagram, which pair could
both be north poles?

A B C D

(1) A and B (2)  B  and  C
(3) A and C (4) C and D

22. The graph shows the kinetic energy (KE) and
potential energy (PE) of a bouncing ball over a
period of 9 seconds. A reasonable hypothesis
based on these data is that as the kinetic energy
decreases, _____.

1 2 3 4 5 6 7 8 9
Seconds

En
er

gy

500
1000
1500
2000
2500
3000
3500
4000
4500

0

Energy of a Bouncing Ball
KE
PE

(1) the ball will stop bouncing
(2) the potential energy will remain unchanged
(3) the potential energy will also decrease
(4) the potential energy will increase

21. fp=kuqlkj] fdl ;qXe ds nksuksa /kzqo mÙkj gSa ?

A B C D

(1) A and B (2)  B  and  C

(3) A and C (4) C and D

22. 9 lsd.M  ds le;kUrjky esa mNyrh gqbZ xasn dh xfrt ÅtkZ
(KE) vkSj fLFkfrt ÅtkZ (PE) dk xzkQ le; ds lkFk n'kkZ;k

x;k gSA fn, x, vkadM+as ds vk/kkj ij mfpr ifjdYiuk gSa]
fd xfrt ÅtkZ ?kVrh gS , _____.

1 2 3 4 5 6 7 8 9
lsd.M

Å
t

kZ

500
1000
1500
2000
2500
3000
3500
4000
4500

0

mNyrh gqbZ xsan fd xfrt ÅtkZ

KE
PE

(1) xsan mNyuk can djsxhA
(2) fLFkfrt ÅtkZ leku jgsxhA
(3) fLFkfrt ÅtkZ Hkh ?kVsxhA
(4) fLFkfrt ÅtkZ c<+sxhA
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23. Which statement best describes what happens

when more waves pass a certain point per
second?
(1) They accelerate.
(2) They transport less energy.
(3) They make a lower pitch.
(4) They increase in frequency.

24. Momentum equals mass times velocity
(p = mv). Which of these would have the least
momentum?
(1) 1,400 kg car moving at 15 meters per

second
(2) 0.035 kg bullet moving at 1,200 meters per

second
(3) 16 kg greyhound moving at 25 meters per

second
(4) 1.0 kg baseball moving at 38 meters per

second
25. Which object pulls on you with the greatest

gravitational force?
(1) 1.2 kg book at a distance of 0.2 m
(2) 15 kg bicycle at a distance of 1 m
(3) 20 kg rock at a distance of 2 m
(4) 70 kg sofa at a distance of 10 m

26. The figure shows a bucket hanging motionless
from a rope. Assume that the rope has no mass.
What is the net force on the bucket?

2.0 kg

(1) 0.0 N (2) 2.0 N
(3) 9.8 N (4) 2.0 × 101 N

23. dkSulk dFku lcls vf/kd mi;qDr gS tc ,d fuf'pr fcUnq
ls izfr lsd.M vf/kd rjaxs xqtjrh gS ?

(1) os Rofjr gksrs gSA

(2) os de ÅtkZ LFkkukUrfjr djrs gSA

(3) os ,d vYi rkjRo cukrs gSA

(4) os vko`fÙk esa o`f¼ djrs gSA
24. laosx] æO;eku rFkk osx dk xq.kuQy gS (p = mv) bu esa

ls fdldk lcls de laosx gksxk ?
(1) ,d 1,400 kg dh dkj 15 eh-@lsd.M dh pky ls

xfreku gSA
(2) 0.035 kg dh xksyh 1,200 eh-@lsd.M dh pky ls

xfreku gSA
(3) ,d 16 kg dk f'kdkjh dqÙkk 25 eh-@lsd.M dh pky

ls xfreku gSA
(4) ,d 1.0 kg dh csl cky 38 eh-@lsd.M dh pky ls

xfreku gSA

25. dkSulh oLrq lokZf/kd xq:Rokd"kZ.k cy ls vki dks [khaprh
gS ?
(1) ,d 0.2 ehVj nwjh ij j[kh 1.2 fdxzk dh fdrkc
(2) ,d 1 ehVj nwjh ij j[kh 15 fdxzk dh lkbZfdy
(3) ,d 2 ehVj nwjh ij j[kh 20 fdxzk dh pêku
(4) ,d 10 ehVj nwjh ij j[kh 70 fdxzk dh fdrkc

26. fp= esa n'kkZ;s vuqlkj ,d ckYVh ,d jLlh ls fLFkj voLFkk
esa yVdh gqbZ gSA ekfu;s fd Mksjh æO;eku ghu gS] ckYVh ij
dqy ?ku D;k gS?

2.0 fdxzk

(1) 0.0 U;wVu (2) 2.0 U;wVu
(3) 9.8 U;wVu (4) 2.0 × 101 U;wVu
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27. Sometimes people in the desert see what

appears to be water. This happens because
________.
(1) heated sand refracts light
(2) the Sun transmits blue-light wavelengths
(3) light refracts through air of different

densities
(4) their eyes' cones and rods are

heat- sensitive
28. A body is falling freely. If the displacement in

the last second is equal to the displacement in
the first 3 seconds, find the time of free fall.
(1) 5  s (2) 10 s (3) 15 s (4) 20 s

29. A body of mass m collides against a wall with
a velocity v and retraces its path with the same
speed. The change in momentum is
(1) zero (2) 2 mv (3) mv (4) –mv

30. Find the value of total resistance between X and
Y in ohm.

R

R

2R

2R2R

R

R
R

2R

X Y
(1) R (2) 2R (3) 3R (4) R/2

31. The length of a given cylindrical wire is
increased by 100%.  Due to the consequent
decrease in diameter, the change in the
resistance of the wire will be
(1) 300 % (2) 200 % (3) 100 % (4) 50 %

32. When the distance of an object from a concave
mirror is decreased from 15 cm to 9 cm, the
image gets magnified 3 times than that in first
case. Calculate the focal length of the mirror.
(1) 3 cm (2) 6 cm (3) 5 cm (4) 7 cm

27. dHkh&dHkh jsfxLrku esa yksxksa dks ty tSlk izrhr gksrk gS] ,slk
gksrk gS] D;ksafd ________.

(1) xeZ jsr izdk'k dks vio£rr djrh gSA
(2) lw;Z uhys izdk'k dh rjaxnS/;Z lapfjr djrk gSA
(3) izdk'k fHkUu&fHkUu ?kuRo dh ok;q ls vio£rr gksrk

gSA
(4) vudh vk¡[k ds 'akdq o 'kykdk;s m"ek laosxh gksrh

gSA
28. ,d oLrq eqDr :i ls fxj jgh gSA ;fn bldk vafre lsd.M esa

r; foLFkkiu blds izFke 3 lds.M esa r; fd;s x;s foLFkkiu
ds cjkcj gS rc eqDr :i ls fxjus esa yxk le; Kkr djsaA
(1) 5  s (2) 10 s (3) 15 s (4) 20 s

29. m æO;eku dh ,d oLrq v osx ls ,d nhokj ls Vdjkrh gS
rFkk iqu% leku pky ls vius iFk dk vuqlj.k djrh gSA laosx
esa ifjorZu gSA
(1) 'kwU; (2) 2 mv (3) mv (4) –mv

30. X rFkk Y ds e/; dqy izfrjks/k dh x.kuk (vkse esa)djsaA

R

R

2R

2R2R

R

R
R

2R

X Y

(1) R (2) 2R (3) 3R (4) R/2

31. ,d fn;s x;s csyukdkj rkj dh yEckbZ 100% c<+k;h tkrh
gSA blds ifj.kkeLo:i O;kl ?kV tkrk gS] rks rkj ds izfrjksèk
esa ifjorZu gksxkA

(1) 300 % (2) 200 % (3) 100 % (4) 50 %

32. tc ,d fcEc dh vory niZ.k ls nwjh 15 lseh ls ?kVkdj
9 lseh dj nh tkrh gS, rc igyh fLFkfr dh rqyuk esa izfrfcEc

3 xquk vko£/kr gks tkrk gSA ni.kZ dh Qksdl nwjh dh x.kuk djsaA

(1) 3 lseh (2) 6 lseh (3) 5 lseh (4) 7 lseh



9/34

SPACE FOR ROUGH WORK / jQ dk;Z ds fy;s txg

Nurture CourseSAMPLE TEST PAPER
33. A ray of light is incident at the glasswater

interface at an angle i. It emerges finally parallel
to the surface of water as shown in fig. The value
of  ng would be

(1)
4

sin i
3

æ ö
ç ÷è ø

       

r
r

i

Air (n = 1)a

Water ( = 4/3)wn

Glass ( )gn

(2) 
1

sin i

(3)
2

3 sin i
(4) 1.5

34. As shown in the fig., a lens is made of two
different materials. A point object is kept on the
axis. How many images are formed?

(1) One

(2) Two

(3) Three

(4) Four

35. A candle C sits between two parallel mirrors,

a distance 0.2d from mirror 1. Here d is the

distance between the mirrors. Multiple images

of the candle appear in both mirrors. How far

behind mirror 1 are the nearest three images of

the candle in that mirror?

(1) 0.2d, 1.8d, 2.2d

C
0.2 d

1 2

d

(2) 0.2d, 2.2d, 4.2d

(3) 0.2d, 1.8d, 3.8d

(4) 0.2d, 0.8d, 1.4d

33. ,d izdk'k fdj.k dk¡p-ty lrg ij i dks.k ls vkifrr gksrh
gSA fp= esa n'kkZ;s vuqlkj ;g ty dh lrg ds lekUrj fuxZr
gksrh gSA ng dk eku gksxkA

(1)
4

sin i
3

æ ö
ç ÷è ø

       

r
r

i

Air (n = 1)a

Water ( = 4/3)wn

Glass ( )gn

(2) 
1

sin i

(3)
2

3 sin i

(4) 1.5

34. fp=kuqlkj ,d ysal nks fHkUu&fHkUu inkFkksZ ls feydj cuk
gSA ,d fcUnq fcEc ysal dh v{k ij j[kk gS] blds fdrus
izfrfcEc izkIr gksxsa ?

(1) ,d

(2) nks

(3) rhu

(4) pkj

35. ,d eksecÙkh C fp=kuqlkj nks lekUrj niZ.kks ds chp j[kh gSA

ftldh niZ.k 1 ls nwjh 0.2d gSA ;gk¡ d nksuksa niZ.kksa ds eè;

nwjh gSA nksuksa niZ.kksa esa eksecÙkh ds cgqr ls izfrfcEc fn[kkbZ

nsrs gSA niZ.k 1 ls nwjh fdruh gS ?

(1) 0.2d, 1.8d, 2.2d

C
0.2 d

1 2

d

(2) 0.2d, 2.2d, 4.2d

(3) 0.2d, 1.8d, 3.8d

(4) 0.2d, 0.8d, 1.4d
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36. Adsorption property is applied in
(1) Crystallization
(2) Sedimentation
(3) Chromatography
(4) Fractional distillation

37. The ratio of charge and mass would be greater
for
(1) anode rays (2) cathode rays
(3) neutron (4) alpha particle

38. How many litres of steam will be formed from
2 L of H2 1L of O2 if all volumes are measured
at the same temperature and pressure.
(1) 1L (2) 2L (3) 3L (4) 4L

39. Which of the following metal is used in storage
battery?
(1) Iron (2) Lead
(3) Tin (4) Zinc

40. To protect tooth decay we are advised to brush
our teeth regularly. The nature of the tooth paste
commonly used is
(1) acidic
(2) neutral
(3) basic
(4) corrosive

41. Groups 3 through 12 in the periodic table are
designated as the .
(1) s - region
(2) p - region
(3) d - region
(4) f - region

SECTION-B : CHEMISTRY
This section contains 15 multiple choice questions. Each question has four choices (1), (2), (3) and (4)
out of which ONLY ONE is correct.

bl [k.M esa 15 cgqfodYi iz'u gSaA izR;sd iz'u esa pkj fodYi (1), (2), (3) vkSj (4) gSa ftuesa ls dsoy ,d lgh gSA 
36. vo'kks"k.k xq.k dk mi;ksx gksrk gSA

(1) fØLVyhdj.k esa
(2) volknu
(3) o.kZ lehdj.kferh
(4) izHkkth vklou

37. fuEu esa ls fdlds fy, vkos'k rFkk æO;eku dk vuqikr
vfèkd gksxk -
(1) ,uksM fdj.ksa (2) dSFkksM fdj.ksa
(3) U;wVªkWu (4) vYQk d.k

38. 2 yh- H2 rFkk 1 yh- O2 ls fdrus yhVj Hkki dk STP ij
fuekZ.k gksxk ;fn lHkh vk;ru leku rki rFkk nkc ij ekis
x;s gksA
(1) 1 yh- (2) 2 yh- (3) 3 yh- (4) 4 yh-

39. fuEu esa dkSulk /kkrq lapk;d lSy esas iz;qDr gksrk gS ?

(1) vk;ju (2) ysM+ ;k lhlk

(3) fVu (4) ftad

40. nUr {k;  dks jksdus ds fy;s fu;fer :i ls cz'k djus
dh lykg nh tkrh gSA lk/kkj.kr;k VwFkisLV dk LoHkko
gSA
(1) vEyh;
(2) mnklhu
(3) {kkjh;
(4) {kj.k

41. lewg 3 ls 12 okys vkorZ lkj.kh es a lEcfU/kr gksrs
gSA
(1) s - {ks=
(2) p - {ks=
(3) d - {ks=
(4) f - {ks=
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42. Use the illustration below to answer the

following question.

How many electrons did magnesium give to
each chlorine atom ?
(1)  0 (2)  1 (3)  2 (4)  3

43. Based on the statements given here choose the
correct answer.
P. In polar regions aquatic life is safe in water

under frozen ice.
Q. Water has a high latent heat of fusion and

the upper portion of ice does not allow the
heat of the water to escape to the
surroundings.

(1) Both  P  and  Q  are  correct  and  Q  is  the
satisfactory explanation of P

(2) Both  P  and  Q  are  correct  but  Q  is  not  the
satisfactory explanation of P

(3) Only P is correct
(4) Only Q is correct

44. Which of the following statements are correct ?
I. The natural source of oxalic acid is tomato.
II. Bleaching powder is used in textile and

wood industry.
III. Plaster of Paris possess two molecules of

water of crystallisation.
(1) I and II only (2) II and III only
(3) III and I only (4) I, II and III

42. uhps fn, x;s fp= dk mi;ksx djrs gq, iz'u dk mÙkj

nhft,A

eSXusf'k;e izR;sd Dyksjhu ijek.kq dks fdrus bysDVªkWu

nsrk gS ?
(1)  0 (2)  1 (3)  2 (4)  3

43. uhps fn;s x;s dFkuksa esa ls lgh mÙkj dk pquko dhft,A

P. /kzqoh; {ks=ksa esa teha gqbZ cQZ ds uhps tyh; thou lqjf{kr

gSA

Q. ty mPp xyu dh m"ek j[krk gS rFkk cQZ dk mijh
fgLlk ty dh m"ek dks okrkoj.k esa tkus ls jksdrk gSA

(1) P rFkk Q nksuksa lgh gS rFkk Q, P dh larks"ktud O;k[;k
djrk gSA

(2) P rFkk Q nksuksa lgh gS rFkk Q, P dh larks"ktud O;k[;k
ugha djrk gSA

(3) dsoy P lgh gSA

(4) dsoy Q lgh gSA

44. fuEu dFkuksa esa ls dkSulk dFku lgh gSa ?
I. vkWDlsfyd vEy dk izkÏfrd L=ksr VekVj gSA
II. fojatd pw.kZ dk mi;ksx VSDlVkby rFkk dk"V m|ksx esa

gksrk gSA
III. IykLVj vkWQ isfjl fØLVfyr ty ds nks v.kq j[krk

gSA
(1) dsoy I rFkk II (2) dsoy II rFkk III
(3) dsoy III rFkk I (4) I, II rFkk III
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45. The arrangement of Nelson cell electrolysis is

given below.
In the above electrolytic method, compound 'P'
undergoes electrolysis and gives 'Q' and 'R' at
respective electrodes. 'R' can be used in the
preparation of PVC, CFC and in swimming
pools. 'Q' can be used in preparing soaps and
detergents. What are P, Q and R ?

P

Q

RH2

Å

Q

P Q R
(1) NaHCO3 Na2CO3 CO2

(2) NaOH Cl2 NaCl
(3) NaCl NaOH Cl2

(4) Na2CO3 H2O CO2

46. Solid foam is

(1) Solid dispersed in solid

(2) Liquid dispersed in solid

(3) Gas dispersed in solid

(4) Solid dispersed in liquid

45. usYlu lsy oS|qr vi?kVu dh O;oLFkk uhps nh xbZ gSA

mijksDr oS|qr vi?kVu fof/k esa] ;kSfxd 'P'  dk oS|qr vi?kVu

gksrk gS rFkk ;g lEcfU/kr bysDVªksMks ij 'Q' rFkk 'R' nsrk gSA

'R' dk mi;ksx PVC, CFC rFkk rj.krkyksa ds fuekZ.k esa gksrk

gSA 'Q' dk mi;ksx lkcqu rFkk viektZd ds fuekZ.k esa gks ldrk

gSA P, Q rFkk R D;k gS ?

P

Q

RH2

Å

Q

P Q R
(1) NaHCO3 Na2CO3 CO2

(2) NaOH Cl2 NaCl
(3) NaCl NaOH Cl2

(4) Na2CO3 H2O CO2

46. Bksl >kx (foam) gS

(1) Bksl esa ifjjf{kr Bksl

(2) Bksl esa ifjjf{kr nzo

(3) Bksl esa ifjjf{kr xSl

(4) nzo esa ifjjf{kr Bksl
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47. How many moles of electron weight one

kilogram?

(1) 6.023 × 1023 (2) 311 10
9.108

´

(3) 546.023 10
9.108

´ (4) 81 10
9.108 6.023

´
´

48. In Rutherford's experiment a beam of alpha-
particles are fired at a piece of gold foil as shown
in the figure below.

Beam of 
alpha particles

Gold foil

P

Q
R

S

After striking the gold foil in which direction
does most of the alpha-particles travel?

(1) P (2) Q (3) R (4) S

49. Which of the following obey the law of
constant proportions in their formation ?

(1) Mixtures

(2) Compounds

(3) Elements

(4) Colloids

50. During electrolysis of aluminium oxide the
product at the cathode undergoes

(1) reduction

(2) oxidation

(3) both (1) & (2)

(4) no reaction takes place

47. fdrus eksy bysDVªkWu dk Hkkj ,d fdxzk gksxk ?

(1) 6.023 × 1023 (2) 311 10
9.108

´

(3) 546.023 10
9.108

´ (4) 81 10
9.108 6.023

´
´

48. jnjQksMZ ds iz;ksx esa tc lksus ds iryh iUuh ij vYQk-d.k
ceckjh fp=kuqlkj djokrs gSA

a-d.k fdj.ksa

P

Q
R

S

lksus dh iUuh

lksus dh iryh iUuh ls Vdjkus ds ckn vf/kdka'kr %
vYQk-d.k fdl fn'kk esa vxzlj gksxsaA

(1) P (2) Q (3) R (4) S

49. fuEu esa ls dkSu vius fuekZ.k ds nkSjku fu;r vuqikr ds fu;e
dk ikyu djrk gS ?
(1) feJ.k
(2) ;kSfxd
(3) rRo
(4) dkSyk;M

50. ,Y;qfefu;e vkWDlkbM ds fo|qr vi?kVu ds nkSjku] dSFkksM
ij izkIr mRikn dk gksrk gSA
(1) vip;u
(2) vkWDlhdj.k
(3) nksuksa (1) rFkk (2)

(4) dksbZ vfHkfØ;k ugha gksrhA
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51. In 1790, the United States had a population of
approximately 4,000,000 people, as shown on
the graph below.

0
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N
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 m
ill
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)

Year

U.S. POPULATION

According to the graph, in what year had the
population grown to approximately twice that
number?
(1) 1797 (2) 1808 (3) 1813 (4) 1822

52. A jeweler made earrings by cutting wedges
from silver disks. Each wedge cut from a disk
made a 40° angle at the center of the disk.

If the weight of each uncut disk was 2.7 grams,
how many grams did each wedge weigh?
(1) 0.4 gms (2) 2.7 gms

(3) 0.3 gms (4) 1 gm

SECTION-C : MATHEMATICS
This section contains 25 multiple choice questions. Each question has four choices (1), (2), (3) and (4) out
of which ONLY ONE is correct.

bl [k.M esa 25 cgqfodYi iz'u gSA izR;sd iz'u esa pkj fodYi (1), (2), (3) vkSj (4) gSa ftuesa ls dsoy ,d lgh gS 

Attempt any one of the section C or D
Section C or D esa ls dsoy ,d gh section djuk gSA

51. 1790 esa vesfjdk dh tula[;k yxHkx 4,000,000 Fkh]
tks fd oØ esa n'kkZ;h x;h gSA

0

5

10

15

20

25

1790 1800 1810 1820 1830 1840 1850

oØ ds vuqlkj dkSuls o"kZ esa tula[;k ml la[;k ls yxHkx
nqxuh gks tk;sxh ?
(1) 1797 (2) 1808 (3) 1813 (4) 1822

52. ,d Lo.kZdkj fdlh pk¡nh dh pdrh ls VqdM+k dkVdj dku
dh ckfy;k¡ cukrk gS] izR;sd VqdM+k pdrh esa ls bl izdkj dkVk
tkrk gS fd og pdrh ds dsUæ ij 40° dk dks.k cukrk gksA

;fn izR;sd ugha dkVh gqbZ pdrh dk Hkkj 2.7 xzke gks rks izR;sd
VqdM+s dk Hkkj fdrus xzke gksxk?
(1) 0.4 xzke (2) 2.7 xzke
(3) 0.3 xzke (4) 1 xzke
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53. An environmental group needed to determine

the number of palmetto palms in a nature
preserve. The group used a map of the preserve
and counted the number of palmetto palms
within a square section.

NATURE PRESERVE

KEY
 4 Palmetto Palms

Square Section

Assuming that the number of palmetto palms
within the square section is representative of
the entire nature preserve, which is closest to
the number of palmetto palms within the entire
nature preserve?
(1) 40 (2) 150 (3) 650 (4) 1000

54. Robert is making a landscape drawing for his
backyard on the coordinate grid below. He is
drawing a path. One side of the path
represented by ST  is already drawn. He wants
to draw the other side of the path through point
R and point Q so that QR  will be parallel to ST .
Which of the following coordinates for point

Q would make QR
suur

 parallel to ST
sur

(1) (-6, 2) (2) (-7, 0) (3) (6, 2) (4) (7, 0)

53. ,d i;kZoj.kfon~ lewg dks fdlh ,d izd`fr laj{k.k {ks= esa
fLFkr dqN NksVs rkM+ ds o`{kksa dh fxurh djuh gSA ;g lewg
bl {ks= ds uD'ks dk mi;ksx djrk gS vkSj ,d oxkZdkj Hkkx esa
fLFkr rkM+ ds o`{kksa dh x.kuk djrk gSA

dqath
4 rkM ds ò{k

oxkZdkj Hkkx

;fn ekuk tk;s fd oxkZdkj {ks= esa fLFkr rkM+ ds o`{kksa dh
la[;k lEiw.kZ lajf{kr {ks= esa fLFkr o`{kksa dh la[;k dks izn£'kr
dj jgs gSa rks lEiw.kZ izd`fr laj{k.k {ks= esa fLFkr rkM+ ds o`{kksa
dh la[;k yxHkx gksxh\
(1) 40 (2) 150 (3) 650 (4) 1000

54. jkWcVZ mlds edku ds ihNs ds vk¡xu dk Hkw&nw'; T;kferh esa
fuEu izdkj ls cukrk gS] og ,d iFk cukrk gS rFkk bl iFk dk
,d Hkkx ST  }kjk n'kkZ;k x;k gSA og bl iFk dk nwljk Hkkx
fcUnq R rFkk Q ls bl izdkj cukuk pkgrk gS fd QR ] ST  ds
lekUrj gksA

fuEu esa ls dkSulk fcUnq Q dks n'kkZrk gS ftlls fd QR
suur

,

ST
sur

ds lekUrj gks tk,sA

(1) (-6, 2) (2) (-7, 0) (3) (6, 2) (4) (7, 0)
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55. Three families are traveling west on the

Overland Trail. They are taking the same path

the pioneer families did in the 1850s. The

families started together 360 miles from their

final destination. The graph below shows the

line of best fit for the distance each family has

left to travel at the end of the first 11 days.

If each family continues to travel at the same

rate, approximately what total number of miles

will the Jones family have left to travel at the

end of the fifteenth day?

(1) 115 miles (2) 140 miles

(3) 150 miles (4) 170 miles

55. rhu ifjokj LFky ekxZ ls if'pe dh vksj pyrs gS] os mlh iFk

dk vuqlj.k djrs gS tks 1850 esa izoZrd ifjokjksa us mi;ksx

fd;k FkkA ;g ifjokj muds vfUre xUrO; LFkku ls 360 ehy

nwjh ij izkjEHk djrs gSA uhps oØ ;g n'kkZrk gS fd izR;sd ifjokj

izFke 11 fnuksa esa fdl izdkj ;k=k djrk gSA

tkWu dk ifjokj
ikoj dk ifjokj

fLeFk dk ifjokj

;k=k ds fnuksa dh la[;k

;k
=k

 e
sa '

ks"k
 n

wjh
 (

eh
y

 e
sa)

;fn izR;sd ifjokj yxHkx leku nj ls ;k=k djrk gS rks 15osa

fnu dh lekfIr ij tkWu ifjokj dqy fdruh nwjh r; dj pqdk

gksxkA

(1) 115 ehy (2) 140 ehy

(3) 150 ehy (4) 170 ehy
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56. The Venn diagram below shows the types of

novels the literature club members read during
their summer break.

36 14 43

2 3
7

28

LITERATURE CLUB SUMMER READING
Adventure Romance

Mystery

Which of the following is NOT supported by
the information in the Venn diagram?
(1) 21 members read both an adventure novel

and a romance novel
(2) 64 members read only an adventure novel

or a mystery novel
(3) 26 members read all three types of novels
(4) 67 members read a romance novel

57. An airport designer drew a plan for two
runways on a rectangular coordinate system.
Line AB represents the centerline of the first
runway and line CD represents the centerline
of the second runway.

If the designer chose a y-coordinate of 1 for
point D, what must be the x-coordinate for the
two runways to be parallel?

(1) x = 11 (2) x = 12 (3) x = 10 (4) x = 5

56. fuEu osu vkjs[k xehZ dh Nqfê;ksa ds nkSjku lkfgR; Dyc ds
lnL;ksa ds }kjk i<s+ x;s miU;klksa ds izdkj dks n'kkZrk gSA

36 14 43

2 3
7

28

lkgfld izsedFkk

tklqlh

fuEu esa ls osu vkjs[k dh lwpuk ugha n'kkZrk gS ?

(1) 21 lnL; lkgfld miU;kl rFkk izsedFkk miU;kl nksuksa
dks i<+rs gSA

(2) 64 lnL; ;k rks dsoy lkgfld miU;kl i<+rs gS ;k
dsoy tklwlh miU;kl i<+rs gSA

(3) 26 lnL; rhuksa izdkj ds miU;kl i<+rs gSA

(4) 67 lnL; izse dFkk miU;kl i<+rs gSA
57. ,d gokbZ tgkt :idkj (designer) nks gokbZ ifê;ksa dks

vk;rkdkj funsZ'kkadksa T;kferh esa cukrk gSA js[kk AB izFke
gokbZ&iêh dh e/;&js[kk ,oa CD f}rh; gokbZ&iêh dh eè;
js[kk dks izn£'kr djrh gSA

;fn :idkj fcUnq D ds fy;s y-funsZ'kkad 1 ysrk gS] rks
x-funsZ'kkad D;k gksxk ftlds fy;s nksuksa gokbZ&ifê;k¡ lekUrj
gksA

(1) x = 11 (2) x = 12 (3) x = 10 (4) x = 5
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58. The “Golden Rectangle” of the ancient Greeks

was considered to have the most pleasing
proportion of any rectangle. The ratio of width
(w) to height (h) of the rectangle is expressed
in the following proportion and is shown in the
drawing below.

w 2
h 5 1
=

-

w = 2

h =  5 – 1

Jason is planning to paint a rectangular mural
using the proportions of the “Golden
Rectangle.” If the mural is 15 meters wide, how
high should it be?

(1) 1.6 meters (2) 9.3 meters

(3) 16.5 meters (4) 24.2 meters

59. Mrs. Bickhart decided to apply wallpaper on
one wall of her living room. A diagram of the
rectangular wall with its window is shown
below.

window

8 ft

24 ft

4 ft8 ft

A roll of wallpaper covers approximately
30 square feet. What is the minimum number
of rolls she will have to buy in order to cover
the entire wall excluding the window?
(1) 2 rolls (2) 5 rolls (3) 6 rolls (4) 7 rolls

58. ik"kk.kdkyhu ;wukuh “Lo.kZvk;r” dks fdlh vk;r dk
lokZfèkd :fpdj lekuqikr ekurs FksA uhps vk;ru dh pkSM+kbZ
(w) rFkk Å¡pkbZ (h) dk vuqikr fn;k x;k gS]

w 2
h 5 1
=

-

w = 2

h =  5 – 1

tSlu “Lo.kZ vk;r” (Golden rectangle) ds lekuqikr
dk iz;ksx djds fdlh vk;rkdkj vkd`fr ij jax djokuk
pkgrk gSA ;fn vkd`fÙk 15 ehVj pkSM+h gks rks bldh Å¡pkbZ
Kkr djsa ?

(1) 1.6 ehVj (2) 9.3 ehVj

(3) 16.5 ehVj (4) 24.2 ehVj

59. Jhefr fcdkVZ us vius dejs dh ,d nhokj ij okWy&isij
yxkus dk fu'p; fd;kA vk;rkdkj nhokj dk ,d fp=
f[kM+dh ds lkFk uhps fn;k x;k gSA

f[kM+dh

8 ft

24 ft

4 ft8 ft

okWy&isij dk ,d jksy yxHkx 30 oxZ QhV txg ?ksjrk gSA

f[kM+dh dks NksM+dj] iwjh nhokj dh txg ?ksjus ds fy;s de

ls de fdrus jksy [kjhnus dh vko';drk gksxhA

(1) 2 jksy (2) 5 jksy (3) 6 jksy (4) 7 jksy
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60. If x divides y (written as x|y) and y|z, (where

x, y, z all belongs to real numbers) then

(1) x|z (2) z|y
(3) z|x (4) None of these

61. The point of intersection of the straight lines
2x – y + 3 = 0, 3x – 7y + 10 = 0 lies in :

(1) I quadrant (2) II quadrant

(3) III quadrant (4) IV quadrant

62. Equation ax2 + 2x + 1 has one double root if :

(1) a = 0 (2) a = – 1 (3) a = 1 (4) a = 2

63. If 
+ + +

=
+ + +

3 5 7 ...upto n terms
7,

5 8 11 ...upto 10 terms
 then the

value of n is :

(1) 35 (2) 36 (3) 37 (4) 40

64. In the following figure (not to scale), O is the
centre of the circle. A, B, C and D are concyclic
and  AB =CD.  If  ÐMON = 120°, then find
ÐOPN.

A C

O

M
N

B D

P

(1)   20° (2) 30° (3) 40° (4) 60°

65. The area of triangle formed by the lines
y = x, y = 2x and y = 3x + 4 is :

(1) 4 (2) 7 (3) 9 (4) 8

60. ;fn x Hkktd gS y (fy[kk gS x|y) rFkk y|z, (tgk¡ x, y, z

okLrfod la[;k dks O;Dr djrh gSA) rc&
(1) x|z (2) z|y
(3) z|x (4) buesa ls dksbZ ugha

61. ljy js[kk;sa 2x – y + 3 = 0 rFkk 3x – 7y + 10 = 0

fdl fcUnq ij lef}Hkktd gS :

(1) I funsZ'kkad (2) II funsZ'kkad
(3) III funsZ'kkad (4) IV funsZ'kkad

62. lehdj.k ax2 + 2x + 1 ds ewy ,d nwljs ds nqxus gksxsa :

(1) a = 0 (2) a = – 1 (3) a = 1 (4) a = 2

63. ;fn 
3 5 7 ... n

7,
5 8 11 ... 10
+ + +

=
+ + +

inkas rd
inkas rd

 rc n dk eku

crkb;s :

(1) 35 (2) 36 (3) 37 (4) 40

64. fn;s x;s fp= esa (iSekus ij ugha) O o`Ùk dk dsæ gS] A, B, C

rFkk D lgo`Ùkh; gS vkSj AB = CD ;fn ÐMON = 120°

rc crkb;s, ÐOPN.

A C

O

M
N

B D

P

(1)   20° (2) 30° (3) 40° (4) 60°

65. js[kkvksa y = x, y = 2x rFkk y = 3x + 4 ls fu£er f=Hkqt
dk {ks=Qy gksxk :

(1) 4 (2) 7 (3) 9 (4) 8
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66. If tan q = 
p

,
q  then the value of 

q q
q + q

psin – q cos
psin qcos

is :

(1) +

2 2

2 2

p – q
p q (2) 

+2 2

2 2

p q
p – q

(3) 0 (4)  None of  these

67. If y = 
a

+ a+ a
2sin

1 cos sin
, then 

- a + a
+ a

1 cos sin
1 sin

 is

equal to :

(1) 1 + y (2) 1 – y (3) 
1
y (4) y

68. When x200 +  1  is  divided  by  x2  +  1,  the
remainder is equal to –

(1) x + 2 (2) 2x – 1 (3) 2 (4)  – 1

69. A person buys 18 local tickets for Rs. 110. Each
first class ticket costs Rs. 10 and each second
class ticket costs Rs. 3. What will another lot
of 18 tickets in which the number of first class
and second class tickets are interchanged cost?

(1) Rs. 112 (2) Rs. 118

(3) Rs. 121 (4) Rs. 124

70. The quadratic equation

3x2 + 2(a2 + 1) x + a2 – 3a + 2 = 0

possesses roots of opposite sign then a lies in :

(1) (– ¥, 0) (2) (– ¥, 1)
(3) (1, 2) (4) (4, 9)

71. If Sn = nP + 
1
2

n (n – 1) Q where Sn denotes the

sum of the first n terms of an A.P., then the
common difference of the A.P. is

(1) P + Q (2) 2P + 3Q
(3) 2Q (4) Q

66. ;fn tan q = 
p

,
q

 rks 
q q
q + q

psin – q cos
psin qcos  dk eku crkb;s :

(1) +

2 2

2 2

p – q
p q (2) 

+2 2

2 2

p q
p – q

(3) 0 (4) buesa ls dksbZ ugha

67. ;fn y = a
+ a+ a

2sin
1 cos sin

, rc 
- a + a

+ a
1 cos sin

1 sin
cjkcj

gS :

(1) 1 + y (2) 1 – y (3) 
1
y (4) y

68. tc x200 + 1 esa x2 + 1 ls Hkkx fn;k tkrk gS rks 'ks"kQy
gksxk –
(1) x + 2 (2) 2x – 1 (3) 2 (4)  – 1

69. ,d O;fDr 110 :i;s esa yksdy fVdV [kjhnrk gS izR;sd izFke Js.kh

ds fVdV dk ewY;  10 :i;s gS rFkk f}rh; Js.kh dk ewY; 3 :i;s gSA

vU; 18 fVdVks ds lewg dk ewY; D;k gksxkA ftlesa izFke Js.kh rFkk

f}rh; Js.kh ds fVdVks dk ewY; vkil esa ifjo£rr dj fn;k tk,sA
(1) :.112 (2) :.118

(3) :.121 (4) :.124

70. f}?kkr lehdj.k 3x2 + 2(a2 + 1) x + a2 – 3a + 2 = 0

ds ewyksa dk fpUg foijhr gks rks a dk vUrjky gS :

(1) (– ¥, 0) (2) (– ¥, 1)

(3) (1, 2) (4) (4, 9)

71. ;fn Sn = nP + 
1
2

n (n – 1) Q tgk¡ Sn fdlh lekUrj

Js.kh ds izFke n inksa dk ;ksx gS rks lekUrj Js.kh dk lkoZvUrj
Kkr dhft;sA
(1) P + Q (2) 2P + 3Q
(3) 2Q (4) Q
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72. In the figure, E and D are the mid-points of

AB and BC respectively. Also ÐB  =  90°,
AD = 292 cm and CE = 208  cm Find AC.

(1) 15
A

E

B D C

(2) 18

(3) 20

(4) 24

73. ABCD  is  a  trapezium  and  P,  Q  are  the
mid-points of the diagonals AC and BD. Then
PQ is equal to :

D C

A BR

QP
1

2

(1) 
1
2

(AB) (2) 
1
2

(CD)

(3) 
1
2

(AB – CD) (4) 
1
2

(AB + CD)

74. The point A divides the join of the points
(–5,  1)  and  (3,  5)  in  the  ratio  k  :  1  and
co-ordinates of points B and C are (1, 5) and
(7, – 2) respectively. If the area of DABC be
2 units, then k equals :

(1) 7, 9 (2) 6, 7 (3) 7, 
31
9

(4) 9, 
31
9

75. The frequency distribution of the marks
obtained by 28 students in a test carrying 40
marks is given below.

  

Marks 0–10 10–20 20–30 30–40
Number of 

students
6 x y 6

If the mean of the above data is 20, then find
the difference between x and y.
(1) 3 (2) 2 (3) 1 (4) 0

72. fp= esa] E rFkk D Hkqtkvksa AB rFkk BC ds e/; fcUnq gS rFkk
ÐB = 90°, AD = 292 lseh rFkk CE = 208 lseh rks
Hkqtk AC Kkr dhft;sA

(1) 15
A

E

B D C

(2) 18

(3) 20

(4) 24

73. ABCD leyEc prqHkqZt gS rFkk P ,ao Q fod.kksZ AC rFkk
BD ds e/; fcUnq gS rks PQ cjkcj gS :

D C

A BR

QP
1

2

(1) 
1
2

(AB) (2) 
1
2

(CD)

(3) 
1
2

(AB – CD) (4) 
1
2

(AB + CD)

74. fcUnqvksa (–5, 1) rFkk (3, 5) dks tksM+us okyh js[kk dks fcUnq
A, k : 1 ds vuqikr esa foHkkftr djrk gS rFkk B rFkk C ds
funsZ'kkad Øe'k% (1, 5) rFkk (7, – 2) gS  ;fn DABC dk
{ks=Qy 2 bdkbZ gS] rks k cjkcj gS :

(1) 7, 9 (2) 6, 7 (3) 7, 
31
9

(4) 9, 
31
9

75. 28 Nk=ks ds fdlh ijh{kk esa ftlesa vf/kdre vad 40 vadksa

dk ckjEckjrk caVu fuEu gSA
  vad 0–10 10–20 20–30 30–40

fo|kfFkZ;ksa dh la[;k 6 x y 6

;fn mijksDr vkadM+ks dk ek/; 20 gS] rks x rFkk y ds e/;
vUrj Kkr dhft;sA

(1) 3 (2) 2 (3) 1 (4) 0
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SECTION-D : BIOLOGY
This section contains 25 multiple choice questions. Each question has four choices (1), (2), (3) and (4) out
of which ONLY ONE is correct.

bl [k.M esa 25 cgqfodYi iz'u gSA izR;sd iz'u esa pkj fodYi (1), (2), (3) vkSj (4) gSa ftuesa ls dsoy ,d lgh gSA

76. Which of the following is a true statement
about the flow of energy in an ecosystem?
(1) Smaller organisms need less energy per

gram of body weight than do larger
organisms.

(2) Energy transfer between organisms
normally involves conservation of heat
energy.

(3) Energy flow between trophic levels is
inefficient.

(4) Chemical energy is converted into radiant
energy, which is then converted to chemical
energy at the next trophic level.

77. Two parents who do not exhibit
phenylketonuria (PKU) have a son with PKU.
Which of the following conclusions can be
drawn from this situation?
(1) The allele for PKU is located on the Y

chromosome.
(2) PKU is a dominant trait.
(3) PKU is a recessive trait.
(4) A mutation occurred in the sperm of the

father.
78. All of the following represent primary

consumers feeding on first trophic level
organisms EXCEPT
(1) paramecia feeding on green algae
(2) mice feeding on seeds
(3) deer feeding on branches of trees
(4) slugs feeding on mushrooms

76. ,d ikfjfLFkdh ra= esa ÅtkZ izokg ds lUnHkZ esa fuEu esa ls
dkSulk dFku lR; gS?

(1) NksVs thoksa dks cM+s thoksa dh rqyuk esa izfr xzke 'kkjhfjd
Hkkj de ÅtkZ dh vko';drk gksrh gSA

(2) thoksa ds e/; ÅtkZ izokg esa Å"ek ÅtkZ lajf{kr jgrh
gSA

(3) fofHkUu iks"k.k Lrjksa ds e/; ÅtkZ dk izokg v{ke gksrk
gSA

(4) jklk;fud ÅtkZ fofdj.k ÅtkZ esa :ikrafjr gksrh gS tks
fd ckn esa vxys Lrj ij jklk;fud ÅtkZ esa :ikarfjr
gksrh gSA

77. nks iS=tu ftUgsa fQukbydhVksuqjh;k (PKU) uke dk jksx ugha

gS] dk iq= bl jksx ls xzLr ik;k tkrk gSA bl fLFkfr ls D;k

fu"d"kZ fudkyk tk ldrk gSA

(1) PKU dk ;qXe fodYih Y-xq.klw= ij fLFkr gSA

(2) PKU ,d izHkkoh fo'ks"kd gSA

(3) PKU ,d vizHkkoh fo'ks"kd gSA

(4) firk ds 'kqØk.kq esa ,d mRifjorZu gqvk gSA

78. fuEu esa ls lHkh izkFkfed miHkksDrk gS tks izFke iks"k.k Lrj ds

thoksa ij fuHkZj djrs gSA flok;

(1) gfjr 'kSoky ij fuHkZj iSjkesf'k;k
(2) chtksa ij fuHkZj pwgs
(3) isM+ks dh Vgfu;ksa ij fuHkZj fgj.k
(4) e'k:e ij fuHkZj ?kkas?ks
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79. A

D

C B
The diagram above represents a cross section
of a leaf. Which region serves primarily to
regulate the stomatal opening?

(1)  A (2) B (3) C (4) D

80. Which of the following best describes the
pathway of a protein from its manufacture to
its secretion from the cell ?

(1) Endoplasmic reticulum ® Golgi complex
® Secretory vesicle

(2) Secretory vesicle ® Endoplasmic
reticulum ® Golgi complex

(3) Secretory vesicle ® Golgi complex ®
Endoplasmic reticulum

(4) Golgi complex ® Endoplasmic reticulum
® Secretory vesicle

81. All of the following are likely to increase after

large areas of tropical rain forests are cut down

EXCEPT the

(1) species diversity of the areas

(2) erosion by rivers flowing through the areas

(3) rate of nutrient loss from the areas

(4) average surface temperature of the soil in
the areas

79. A

D

C B

mijksDr fp= ,d i.kZ dk vuqizLFk dkV gSA dkSulk {ks= okrjèkzksa

ds [kqyus dks izkFkfed :i ls fu;af=r djrk gS ?

(1) A (2) B (3) C (4) D

80. fuEu esa ls dkSulk ifjiFk ,d izksVhu ds fuekZ.k ls ysdj

dksf'kdk ls mlds L=ko rd dk loksZÙke fp=.k gS ?

(1) varæZO;h tkfydk ® xkWYth midj.k ® L=o.kha iqfVdk

(2) L=o.kha iqfVdk ® varæZO;h tkfydk ® xkWYth midj.k

(3) L=o.kha iqfVdk  ® xkWYth midj.k  ® varæZO;h

tkfydk

(4) xkWYth midj.k  ® varæZO;h tkfydk  ® L=o.kha

iqfVdk

81. fuEu esa lHkh m".k dfVca/kh; o"kkZ ouksa ds dkVs tkus ij o`f¼

n'kkZrs gS flok;&

(1) {ks= dh iztkrh; fofo/krk ds

(2) {ks= ls cgus okyh ufn;ksa }kjk e`nk ál

(3) {ks= ls iks"kd rRoksa ds ál dh nj

(4) {ks= dh e`nk dk vkSlru lrgh rki
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82. Which of the following cellular processes

normally produces ATP from glucose in the

absence of oxygen?

(1) Krebs cycle

(2) Glycolysis

(3) Chemiosmosis

(4) Calvin cycle

83. A person touches a hot object and immediately

moves her finger away from it. Which of the

following structures is the first to receive an

impulse triggered by the stimulus?

(1) Synapse

(2) Ventral root ganglion

(3) Motor neuron

(4) Sensory neuron

84. One of the accepted scientific theories

describing the origin of life on Earth is known

as chemical evolution. According to this

theory, which of the following events would

need to occur first for life to evolve?

(1) onset of photosynthesis

(2) origin of genetic material

(3) synthesis of organic molecules

(4) formation of the plasma membrane

82. fuEu esa ls dkSulh dksf'kdh; vfHkfØ;k }kjk lkekU; rkSj ij

vkWDlhtu dh vuqifLFkfr esa Xywdkst ls ,Vhih (ATP) dk

mRiknu fd;k tkrk gS ?

(1) Øsc pØ

(2) Xykbdksfyfll

(3) jlksijklj.k

(4) dsfYou pØ

83. ,d O;fDr ,d xeZ oLrq dks Nqrk gS vkSj rqjUr mldh vaxqyh

dks blls nwj gVk ysrk gSA fuEu esa ls dkSulh lajpuk,sa gS tks

míhiu ls mRiUu vkosx dks loZizFke izkIr djrh gSA

(1) flusIl

(2) v?kj ewy x̀PNd

(3) izsjd U;wjkWu

(4) laosnh U;wjkWu

84. i`Foh ij thou ds mn~xe ds lanHkZ esa Lohd`r fl¼karksa esa ls

,d gS & jklk;fud mn~fodklA bl fl¼kar ds vuqlkj] thou

ds mn~fodkl gsrq dkSulh ?kVuk igys ?kfVr gksxh ?

(1) izdk'k la'ys"k.k dh 'kq:okr

(2) vkuqokaf'kd inkFkZ dk mn~xe

(3) dkcZfud v.kqvksa dk la'ys"k.k

(4) dksf'kdk f>Yyh dk fuekZ.k
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85. The scientific theory of evolution is supported

by different types of evidence. The diagrams
below show the skeletons of two different
animal species.

Whale
Spinal

Column

Pelvic Bone
and Hind

Legs
Ribs

Radius

Phalanges Ulna
Humerus

   
Pelvic Bone

and Hind Legs Ribs Ulna Phalanges

Humerus
Radius

Spinal
Column Alligator

How does comparing the skeletons of these
animals provide support for the scientific
theory of evolution?

(1) It provides information about the
organisms’ habitats.

(2) It shows possible common ancestry
between organisms.

(3) It provides information to determine the
organisms’ ages.

(4) It shows possible chromosomal similarities
between organisms.

85. mn~fodkl dk oSKkfud er fofHkUu izdkj ds izek.kksa }kjk
i`f"Vr gSA uhps fn;k x;s fp= nks fofHkUu tUrq tkfr;ksa ds

dadkyksa dks izn£'kr djrs gSA

Whale
Spinal

Column

Pelvic Bone
and Hind

Legs
Ribs

Radius

Phalanges Ulna
Humerus

   
Pelvic Bone

and Hind Legs Ribs Ulna Phalanges

Humerus
Radius

Spinal
Column Alligator

dSls bu tUrqvksa ds dadkyksa dh rqyuk djksxs fd ;g mn~fodkl

ds oSKkfud er dh i`f"V djs ?

(1) ;g thoksa ds vkoklksa ds ckjs esa lwpuk iznku djrh

gSA

(2) ;g thoksa ds chp lEHkkfor lkekU; iwoZtks dks n'kkZrk

gSA

(3) ;g thoksa dh vk;q fu/kkZfjr djus ds fy;s lwpuk iznku

djrk gSA

(4) ;g thoksa ds chp lEHkkfor xq.klw=h; lekurkvksa dks

n'kkZrk gSA
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86. The diagram below shows the relationship

between photosynthesis and cellular
respiration and the organelles in which they
occur.

Which statement describes how photosynthesis
and cellular respiration are interrelated?

(1) Oxygen is produced during cellular
respiration and stored during
photosynthesis.

(2) Carbon dioxide and water released by
cellular respiration are used in
photosynthesis.

(3) Photosynthesis releases the energy that is
stored during the process of cellular
respiration.

(4) Glucose is used during cellular respiration
to produce food that is broken down during
photosynthesis.

86. uhps fn;s x;s fp= esa izdk'k la'ys"k.k vkSj dksf'kdh; 'olu

ds e/; lEca/k rFkk oks dksf'kdkax tgk¡ ;s ?kfVr gks jgrs gSA

izn£'kr fd;s x;s gSA

dkSulk dFku izdk'k la'ys"k.k vkSj dksf'kdh; 'olu ds chp

lEca/k dks mYysf[kr djrk gS\

(1) dksf'kdh; 'olu ds nkSjku vkWDlhtu mRiUu gksrh gS rFkk

izdk'k la'ys"k. ds le; lafpr gksrh gSA

(2) dkcZu MkbZvkWDlkbM vkSj ty dksf'kdh; 'olu ds nkSjku

eqDr gksrs gS tks izdk'k la'ys"k.k esa bLrseku dj fy;s tkrs

gSA

(3) izdk'k la'ys"k.k esa eqDr gqbZ ÅtkZ dk lap; dksf'kdh;

'olu ds nkSjku gksrk gSA

(4) Hkkstu dk fo?kVu izdk'k la'ys"k.k esa fd;k tkrk gS ftlds

mRiknu ds fy;s Xywdkst dk mi;ksx dksf'kdh; 'olu

esa fd;k tkrk gSA
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87. The following pictures show some stages

during asexual reproduction of a Hydra. Which
picture shows the first step ?

(1) (2) 

(3) (4) 

88.

Nuclei

Cell plate
Cell in Cytokinesis

A student looking through a light microscope
saw this cell in cytokinesis. This cell is most
likely from
(1) a plant (2) a virus
(3) an animal (4) a bacterium

89. What do phototropism and geotropism enable
plants to do?
(1) Grow towards needed resources
(2) Prevent invasion by insect colonies
(3) Defend themselves against herbivores
(4) Develop pesticide resistance by

exchanging DNA

87. fuEufyf[kr esa ls dkSulk fp= Hydra ds vySafxd tuu

ds izFke pj.k dks n'kkZrk gS ?

(1) (2) 

(3) (4) 

88.

Nuclei

Cell plate

,d fo|kFkhZ us izdk'k lw{en'khZ ds uhps bl dksf'kdk dks
dksf'kdk æO; foHkktu ds le; ns[kkA ;g dksf'kdk lEHkor%
gSA
(1) ikni ls (2) fo"kk.kq ls
(3) izk.kh ls (4) thok.kq ls

89. izdk'kuqpyu ,oa xq:Rokuqpyu ls ikS/ks &

(1) vko';d lalk/kuksa dh vksj o`f¼ djrs gSA

(2) dhV >qMksa ds vkØe.k ls cpko djrs gSA

(3) 'kkdHk{kh ls cpko djrs gSA

(4) ihM+dukf'k;ksa ds fo:¼ Mh,u, (DNA) vkæku&iznku

}kjk izfrjks/k dks mRiUu djrs gSA
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90.
Mosses and liverworts –

Ferns –

Gymnosperm –

Angiosperm –

 nonvascular,
low-growing, root like structures

 vascular, spores, roots, stems,
and leaves

 vascular, naked seeds,
needle or scale-like leaves, roots, stems,
seed in cones

 vascular, seeds enclosed
in fruit, flowers, roots, stems, leaves

Plant Observations

A student observed different types of plants and
recorded the data shown. Based on the
drawings and information in the chart, these
plants are most likely -
(1) gymnosperms (2) angiosperms
(3) mosses (4) ferns

91. DNA mRNA Protein

In eukaryotic cells, the process indicated by
arrow A occurs  in  the  —

(1) cytoplasm (2) ribosome
(3) nucleus (4) cell membrane

90.

,d fo|kFkhZ fofHkUu izdkj ds ikniksa dk voyksdu fd;k ,oa

vius fu"d"kks± dks lkfj.kh ds :i esa iznf'kZr fd;k gSA bl

vk/kkj ij ikniksa dks igpkfu;s -

(1) ftEuksLieZ (2) ,fUt;ksLieZ

(3) ekWl (4) QuZ

91. DNA mRNA Protein

;wdSj;ksfVd dksf'kdkvksa esa ] 'A' ls izn£'kr izfØ;k gksrh
gSA
(1) dksf'kdkæO; esa (2) jkbckslkse ij
(3) dsUæd esa (4) dksf'kdk f>Yyh
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92. Students research unicellular, prokaryotic

organisms that live in harsh environments such
as volcanic hot springs, brine pools, and
anaerobic black organic mud. Which of
these groups are the students most likely
researching ?

(1) Protista (2) Archaebacteria

(3) Eubacteria (4) Plantae

93.

Fr
eq

ue
nc

y

Length of Leg

The graph above depicts the frequency of
expression of the range of leg lengths in a
population of grazing animals. In this species,
leg length is directly related to speed, which is
a heritable characteristic. These grazers are
being preyed on by a newly introduced species
of swift-running predators. Which of the
following graphs represents the range of
expression most likely to result from this
selection pressure over a long period of
time ?

(1) 
Length of Leg

Fr
eq

ue
nc

y

(2) 

(3) (4) 
Length of Leg

Fr
eq

ue
nc

y

92. fo|kFkhZ ,ddksf'kdh;] izksdsfj;ksfVd thoksa ij vuqla/kku djrs

gS tks dBksj i;kZoj.k esa tSls Tokykeq[kh; xje ikuh ds >jus]

uedhu iwy vkSj vukDlhtfud dkcZfud inkFkZ okyh dhpM+

esa jgrs gSA buesa ls fdl lewg dh fo|kFkhZ vuqla/kku dj jgs

gS\

(1) izksfVLVk (2) vk£dcSDVsfj;k

(3) ;qcSDVsfj;k (4) IykaVh

93.

Fr
eq

ue
nc

y

Length of Leg

Åij fn;s x;s xzkQ esa fdlh pjus okys tkuojks dh lef"B

esa iSjks dh yEckbZ ds izn£'kr gksus dh vkòfÙk dh lhek n'kkZ;h

xbZ gSA bl tkfr esa iSjks dh yEckbZ mlds j¶rkj ls izR;{k :i

ls lEcfU/kr gS tks fd ,d vkuqoaf'kd xq.k gSA ubZ yk;h x;h

rst j¶rkj f'kdkjh tkfr }kjk pjus okys tkuojksa dks f'kdkj

cuk;k x;kA fuEu esa ls dkSulk xzkQ yEcs le; ls py jgs

p;u ds nkc ds ifj.kke ls vfHkO;fDr dh lhek dks izn£'kr

djrk gS?

(1) 
Length of Leg

Fr
eq

ue
nc

y

(2) 

(3) (4) 
Length of Leg

Fr
eq

ue
nc

y
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94. In a lab investigation designed to demonstrate

one aspect of photosynthesis, three test tubes

were treated as shown above. The test tubes

were then placed under a bright lamp for

24 hours. Which of the following is the best

explanation for the observed color change in

tube  2  ?

  

Test 
Tube

Materials Added
Initial 
Color

Final 
Color

1
Aquatic plant,bromothymol 
blue solution

Blue Blue

2
Aquatic plant, 
bromothymol blue solution, 
carbonated water

Yellow Blue

3
Bromothymol blue 
solution, carbonated water

Yellow Yellow

(1) The light bleached the solution from its

original color of yellow to blue.

(2) The aquatic plant produced carbon dioxide,

which changed into carbonic acid and

caused the color change.

(3) The aquatic plant used carbon dioxide,

raising the pH of the solution.

(4) The plant produces oxygen during

photosynthesis, which caused the color

94. ,d iz;ksx'kkyk esa ,d ijh{k.k dks izdk'k la'ys"k. ds ,d

Lo:i dks izn£'kr djus ds fy;s cuk;k tkrk gS ftlesa rhu

ij[kufy;ksa dk fujh{k.k fuEukuqlkj fn;k x;k gSA ;s ij[kufy;s

,d izdk'k cYc ds fy;s 24 ?kaVs ds fy;s j[kh tkrh gSA fuEu

esa ls] ij[kuyh 2 esa jax ifjorZu ds fy;s mi;qDr Li"Vhdj.k

gksxk ?

  

ij[k

uyh
tksM+h x;h lkexzh

izkjfEHkd

jax

vafre

Hkkx

1
tyh; ikni] uhyk 

czkseksFkheksy foy;u
uhyk uhyk

2

tyh; ikni] uhyk 

czkseksFkheksy foy;u] 

dkcZfud r ty

ihyk uhyk

3
uhyk czkseksFkheksy foy;u] 

dkcZfud r ty
ihyk ihyk

(1) izdk'k] foy;u dk iz{kkyu ewy jax ihys ls uhys esa dj

nsrk gSA

(2) tyh; ikni dkcZu MkbZvkWDlkbM mRiUu djrs gS] tks fd

dkcZfud vEy esa ifjo£rr gks tkrh gS vkSj jax ifjorZu

dk dkj.k curh gSA

(3) tyh; ikni dkcZu MkbZ vkWDlkbM dk mi;ksx djrs gS]

ftlls foy;u dh pH lkaærk c<+ tkrk gSA

(4) ikni izdk'k la'ys"k.k ds nkSjku vkWDlhtu mRiUu djrs

gSA tks fd jax ifjorZu dk dkj.k curh gSA
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change.

95. Animalia

Chordata

Mammalia

Carnivora

Mustelidae

LutraMephitis

Canidae

Canis

Felidae

Panthera

Canis
familaris
(domestic

dog)

Canis
lupis

(wolf)

Lutra
lutra

(European 
otter)

Mephitis
mephitis
(striped
skunk)

Panthera
pardus

(leopard)

Kingdom

Phylum

Class

Order

Family

Genus

Species

Based on this classification scheme, the European
otter and the leopard are in the same -
(1) kingdom but in different orders
(2) genus but in different species
(3) order but in different families
(4) family but in different genera

96.
Himatione
sanguinea

Hawaiian Honeycreepers
Drepanis
funerea

Hemignathus
wilsoni

Psittirostra 
bailleui

The different species of Hawaiian
honeycreepers shown all descended from a
single species of North American bird. They
now have different beaks, eat different foods,
sing different songs, and live in different
environments on the islands. Which factor
probably contributed most to the development
of these different species?

(1) Loss of habitat
(2) Geographic isolation
(3) Egg size

95. ,uhesfy;k

dksMZVk

eSesfy;k

dkfuZoksjk

eLVsfyMh

ywVªkesQkbfVl

dSfuMh

dsful

QsfyMh

isUFksjk

    Øsful
   Qsfeghfjl
(ikyrw dqÙkk)

    ywVªk
    ywVªk
(;wjksfi;u
   vksVj)

   esQkbfVl
   esQkbfVl
(LVªhiM 'kad)

    isUFksjk
   ikjMl
(fyvksiksMZ)

txr

la?k

oxZ

x.k

dqy

oa'k

tkfr
  dsful
  ywfil
(HksfM+;k)

bl oxhZdj.k Ldhe ij vk/kkfjr] ;wjksfi;u vksVj vkSj rsanqvk
(fyvksikMZ) vkrs gS] leku -
(1) txr ysfdu fHkUu x.k
(2) oa'k ysfdu fHkUu tkfr
(3) x.k ysfdu fHkUu dqy
(4) dqy ysfdu fHkUu oa'k (tsusjk)

96.
Himatione
sanguinea

Hawaiian Honeycreepers
Drepanis
funerea

Hemignathus
wilsoni

Psittirostra 
bailleui

gokbZ;u guhØhij dh fofHkUu tkfr;k¡ mÙkjh vesfjdu i{kh

dh ,dy tkfr ls vojksgu n'kkZrh gSA os vc fofHkUu izdkj

dh pksap j[krh gS] fofHkUu Hkkstu [kkrh gS] fofHkUu xhr xkrh

gS vkSj bl }hi ij fofHkUu okrkoj.kksa esa jgrh gSA dkSulk

dkjd lEHkor;k bu fofHkUu tkfr;ksa ds vf/kdka'k fodkl

esa lg;ksx djrk gSA

(1) vkokl dk ál

(2) HkkSxksfyd i`FFkdj.k

(3) v.Ms dk vkdkj

(4) ijHk{k.k
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(4) Predation

97. A student filled two petri dishes with a clear

cornstarch gel, then marked the letter “X”

invisibly onto the gel in petri dish '1' with a

damp cotton swab. He then placed saliva from

his mouth onto a second cotton swab and used

that swab to mark the letter “X” invisibly onto

the gel in petri dish '2'.

Petri Dish 1 Petri Dish 2

SALIVA EXPERIMENT

Fifteen minutes later, he rinsed both petri dishes
with a dilute solution of iodine to indicate the
presence of starch. The surface of petri dish '1'
turned completely blue, indicating starch. Most
of the surface of petri dish '2' was blue, except
the letter “X” was clear, as shown above.

The most probable explanation of the clear “X”
is that

(1) the starch in the gel was absorbed by the
damp cotton swab.

(2) the iodine reacted with a chemical in the
saliva and broke down.

(3) a chemical in the saliva broke down the
starch in the gel.

(4) the saliva prevented the iodine from

97. ,d fo|kFkhZ nks "petri dishes" (cSDVhfj;k lao¼Zu ds fy;s

iz;ksx esa yh tkus okys ,d fo'ks"k IysV) dks lkQ dkuZLVkpZ

tSy (cornstarch gel) ls Hkj nsrk gSA fQj og (petri dish

'1') ij ,d xhys :bZ ds Qkgs ls “X” ikjn'khZ :i ls fpfUgr

dj nsrk gSA fQj og vius eq[k dh ykj dks nwljs :bZ ds Qkgs

ij ysrk gS vkSj bl Qkgs ls petri dish '2' dh tSy ij “X”

ikjn'khZ :i ls fpfUgr dj nsrk gSA

Petri Dish 1 Petri Dish 2

SALIVA EXPERIMENT

iUæg feuV ckn] og nksuksa petri dishes dks vk;ksMhu ds

ruq foy;u ls gksrk gS ftlls LVkpZ dh mifLFkr bafxr gks tk;sA

petri dish '1' iw.kZr;k uhyh gks tkrh gS tks fd LVkpZ dks

izn£'kr djrh gSA petri dish '2' dh vf/kdka'k lrg uhyh

gks tkrh gSA tcfd “X” fpUg ikjn'khZ Fkk tSlk Åij fn[kk

x;k gSA

ikjn'khZ “X” ds mi;qDr Li"Vhdj.k gksxkA

(1) tSy esa mifLFkr LVkpZ xhys :bZ ds Qkgs }kjk vo'kksf"kr

dj yh x;hA

(2) vk;ksMhu us ykj esa mifLFkr jlk;u ls vfHkfØ;k dh

vkSj fo[kafMr gks x;kA

(3) ykj ds fdlh jlk;u ds dkj.k LVkpZ fo[kafMr gks x;kA

(4) ykj us vk;ksMhu dks tSy esa mifLFkr LVkpZ ds lEidZ

esa vkus ls cpk;kA
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contacting the starch in the gel.

98.
Numbers of Representative Species

Jurassic

Triassic

Permian
Pennsy-
lvanian
Mississi-
ppian

Devonian

Silurian

Ordovician

Cambrian
(Pre-
Cambrian)

Quaternary

Tertiary

Cretaceous

Period Dinosaurs  Turtles  Crocodilians  Snakes Lizards
Pa

le
oz

oi
c

M
es

oz
oi

c
Ce

no
zo

ic
Era

According to this information, which group

demonstrated the greatest biodiversity during

the Cretaceous period?

(1) dinosaurs

(2) crocodilians

(3) snakes

(4) lizards

99. The fight or flight response includes greater

heart output and a rise in blood pressure. This

response is due to

(1) insulin secreted by the pancreas.

(2) thyroxine secreted by the thyroid gland.

(3) oxytocin secreted by the pituitary gland.

98.
Numbers of Representative Species

Jurassic

Triassic

Permian
Pennsy-
lvanian
Mississi-
ppian

Devonian

Silurian

Ordovician

Cambrian
(Pre-
Cambrian)

Quaternary

Tertiary

Cretaceous

Period Dinosaurs  Turtles  Crocodilians  Snakes Lizards

Pa
le

oz
oi

c
M

es
oz

oi
c

Ce
no

zo
ic

Era

mij nh x;h tkudkjh ds vuqlkj fØVsf'k;l dky esa dkSulk

lewg lcls vf/kd tSo fofo/krk n'kkZrk gS\

(1) Mkbukslksj

(2) exjePN

(3) lk¡i

(4) fNidyh

99. yM+us ;k Hkkxus dh izfrfØ;k esa mPp ân; vkmViwV rFkk mPp

jDr nkc 'kkfey gSA ;g izfrfØ;k gksrh gS] ds dkj.k

(1) vXuk'k; }kjk L=kfor bUlqfyu

(2) FkkbjkbM+ xzafFk }kjk L=kfor FkkbjkWfDlu

(3) ih;w"k xazfFk }kjk L=kfor vkWDlhVksflu

(4) ,Mªhuy xafFk }kjk L=kfor ,Mªhufyu
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(4) adrenaline secreted by the adrenal glands.

100. Injecting a person with a killed-bacteria vaccine

can protect that individual from a disease

because the proteins of the killed bacteria

(1) remain in the body, and live bacteria later

prey on them instead of live tissues.

(2) bind with receptors in the body, so that live

bacteria cannot bind with them later.

(3) stimulate the production of antibodies which

can be manufactured later in response to

infection.

(4) give the person a mild form of the disease,

which conditions the body not to respond

to later infection.

100. ,d O;fDr dks chekjh ls cpkus ds fy;s mlesa e`r thok.kq

tfur Vhdk (oSDlhu) nh tkrh gS] D;ksafd e`r thok.kq ds

izksVhu&

(1) 'kjhj esa jgrs gS] vkSj thfor thok.kq ckn esa thfor Ård

ds LFkku ij mudk f'kdkj djrs gSA

(2) 'kjhj esa xzkfg;ksa ls tqM+s tkrs gS rkfd thfor thok.kq ckn

esa muls uk tqM+ ldsA

(3) izfrjf{k;ksa ds fuekZ.k dks izfjr djrs gS tks fd ckn esa

laØe.k dh izfrfØ;k esa fu£er gks ldrs gSA

(4) O;fDr dks chekjh dk gYdk :i nsrs gS tks fd ckn esa

laØe.k ls dksbZ izfrfØ;k 'kjhj dks ugha nsus nsrs gSA
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